Sec 3.1 Quadratic Applications

The height of a punted football, f(x), in feet, can be modeled by

f(x) = _01x? +1.18x + 2 where X is the ball's horizontal distance, In feet,
from the point of Impact with the kicker's foot.

What Is the maximum height of the punt and how far from the point of
Impact does this occur?

How far must the nearest defensive player, who Is 6 feet from the kicker's

foot, reach to block the pu”t7X — } 8"’4] 36]+ 08

If It's not blocked, how far does It travel? OZ
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(Omong all pairs of numbers whose difference is 10, find a pair
whose product is as smal as possible. What is the minimum product?

| Wrte equaton | Minimize. product.. P = ab
2 Write equation

2 e ed We. ako know that P= UD+ b) K

4 Solve a-b = 10

Solale a variable . 2
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You have 100 yards of fencing to enclose a rectangular Again, write 2

region. Find the dimensions of the rectangle thal maximize the e@iﬂﬁnj'
enclosed area. What is the maximum area? variable
W I I —» [ = )|+ Pluginto
*maximize area. O = | W equation that
| needs to be

max/min‘d.
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